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Quizzes back at bum candy by
the end of the The Testis Thursday | |dropping it into
period "Solid Oxygen"
at 11:25.

Figure out the empirical formula of a
_
compound.
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1. What is the molecular mass of C;Hs?
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&l Each garbanzo weighs 0.6362 grams | A box contains 24 bags of beans

| Each bag of garbanzos contains 1062 | Each bean is 73 protein by mass.
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. How many beans will thete‘zbe in 3 bags of garbanzos?
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. What would be the mass of 2.1x1015 mol s of garba
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. What will be the mass of 13 boxes”
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. How many moles axe in 67 )0000000 0000000000000 0 garbanzo beans?
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7. A strong wind has blown a bunch of conversion factors away from Problem #4! Worse still they have lost
their numbers! Fill in top and bottom numbers on each. You are only allowed to write in the following
numbers: “1%, “6.02x10%”, and anything from the periodic table,
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8. Now, use the conversion factors you created above to solve the following problems below.
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9. If you like the flavor cinnamon, you may be interested to know that its formula is CoHgO; ..

According to the periodic table, what is the | A single exece of Trident® gum has about
mass of a mole of this molecule? 7.902x10°° cinnamon molecules. What
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10. What would be the mass of 4.77x10" atoms ofhe um ?
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